Combined Graduate Level Examination 2020 Tier-l

[Exam Date 16/08/2021
Exam Time 12:00 PM - 1:00 PM
Subject Combined Graduate Level Examination 2020 Tier 1

Section : General Intelligence and Reasoning

Q.1 a5 fawed g S FeR HEn 9 I yeR Haitd 3, o veR gudl we, uge 6en ¥
3R T W, gidt Se | Heftd 21

15:135::16:?::18:189
Ans X 1.131

X 2. 141
o 3.152

X 4.121

Question ID : 81616112921
Status : Not Answered
Chosen Option : --

Q.2 Select the Venn diagram that best illustrates the relationship among the following classes.

Whisk, Utensil, Sickle
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Question ID : 81616112933
Status : Answered
Chosen Option : 4




Q.3 fau T fawenl ® & ag qui-ugg g+ o Fafafed e & gufg (2) & =E w g
GCB, JHE, MMH, PRK, ?
Ans X 1.RVM
% 2. SXM
X 3.TXO
o 4. SWN

Question ID : 81616112505
Status : Answered
Chosen Option : 4

Q4 & 7% g & =it $r T 7w ffew) (Gt F e FE FET §)

Ans X1 G
X2 16
X3 9
v 7

Question ID : 81616112221
Status : Answered
Chosen Option : 1

Q.5 it fARY HeuTsr & 'ALPINE’ #1171’ & =0 & 3R ‘SPRING’ ®1 ‘83’ & U ¥ Hedx
forar SiTam 21 <t S UTHT H ‘CAPITAL & ) Feaw forar smm?

Ans X 1.124

X293
o 3.186

X 4.62

Question ID : 81616112209
Status : Answered
Chosen Option : 3




Q.6 faw T fawenl & & ag & g of fFuferfEa saen # valg (7) & _—_E wR smeEt?
5,13, 22, 34, 51, 75, 108, 152, ?
Ans X 1.203
2 2.230
7 3.290
o 4. 209

Question ID : 81616113122
Status : Answered
Chosen Option : 4

Q7 R v et # F 97 gl g9 o SRR @er # waAtie (2) F v W ameeh)

T~ =

CB—O,O«—CKO—?

el

Ans

K4
| N
&
4

Question ID : 81616113129
Status : Answered
Chosen Option : 4




Q.8 ?qmﬂﬁmmﬂgéwawaﬁaﬁ?agmgﬁﬁﬁum(?)%?mwaﬂm

61114
837
62 47 89

Ans X 1.6
X215
X 3.4
& 4.5

Question ID : 81616112217
Status : Answered
Chosen Option : 4

Q9 E%q%ﬁﬁmwmjﬁsrwﬁaﬁ?agmgﬁﬁﬁﬁum (?) & R W 31
?

22327
18245
32407

Ans X 1.12
2.8
X 3.4
X 4.10

Question ID : 81616112923
Status : Answered
Chosen Option : 2

Q.10 fqr &} Idu™ Mg IUF 98 TF A 9 T 31 IR auf & a1, e it
{ TR T 8 Wt u%a%gaaﬁvaﬁ%gaaﬁaﬁnmmmamsa?% a‘rﬁrcna?r
gduT AT fHa-t 82

Ans X 1. 4279
7 2.38a¢
o 3.36 T
X 4.329¢

Question ID : 81616112522
Status : Answered
Chosen Option : 3

Q.1 g T fywedi A & 98 SigR g o FHuforraa e # yyfg (?) & R W smem?
B,E, G,J,L,?
Ans X 1.Q
X 2P
X 3.N
& 4.0

Question ID : 81616112513
Status : Answered
Chosen Option : 4




Q12 ofy ghor 1 & T AT F AR T W AGT § G AF F L 9o 9 sufEa S

Ans

A

A

B
Cc
D

val

< 3.

B
9 A
a
a
IARY
g
g
A
d
B
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C XA
D

Question ID : 81616112527

Status : Answered

Chosen Option : 1




A1 g Rerow o ol & o1 sl Tewlea & (3T 1 e o )1

A
%

Ans

Question ID : 81616112526

Status : Answered

Chosen Option : 2

Q.14 R} IR goi-aag 3T 7T § e @ @9 6 el & ve qure € o S | Te SRiTa
?1 39 T UI-TYE BT TG B
Ans o 1. FJQL

X 2. EMNK
X 3.IDWG
X 4.BTGN

Question ID : 81616113113

Status : Answered

Chosen Option : 3




Q.15 %?ﬁmqﬁﬁﬁﬁqmwaiwmﬁm%mmﬁ%mmﬁ
[

1. Umbilical
2. Urgent

3. Unaltered
4. Umbrella

5. Unanimous

Ans X 1.4,1,53,2
& 2.1,4,35,2
% 3.4,1,3,52
X 41,4235

Question ID : 81616113112
Status : Answered
Chosen Option : 2

Q.16 foelt fafRry HeH™T & 'MORBID' ®1 'THGMID’ & U ¥ for@r Srar g1 ) I Hror &
‘OBTAIN’ ® 9 ferar smem 2

Ans X 1.GFOJDS
5 2. JOFGSD
< 3.JGOFDS
" 4. GJFOSD

Question ID : 81616112915
Status : Answered
Chosen Option : 3

Q.17 R IR g fE 7T § R @ i frelt Tl & ve gum § 3k 9 @ U SrTa §1 39
ST Mg BT I B
Ans X 1. faeamn
& 2. T
X 3. TR

X 4. T

Question ID : 81616112205
Status : Answered
Chosen Option : 2




Q.18 foE T Hy=T 3R fAehul &) e A U | FY=1 & &Y 7 TSR F) TG I g, HA B
I8 9 U A 71 a2 ¥ g ydia 8, ﬁufﬁaaﬁﬁfaﬁqﬁﬁwcfﬁqw$u=ﬁ$r
b U | FER0 B B

o o, Aucte ¥

;ﬁqg%ﬁﬁﬂ aqgw»f:uz?rﬂﬁ%
gTea |

o1s N e, FIefev® T8 71

e
|¥s€ﬁ:ﬁw ?rutrqﬂé’rél

::l aﬁémsﬁﬁw ?rqzw#r%l
Iv. Foft 91-g154, Foltued T8 71

Ans X 1. 3l FISHY 11l SFTEROT Rl
X 2. Bad B || SFER BT R
o 3. A DT |V STERT el §
X 4. 59 5B | STHR0T FHRaT B

Question ID : 81616112919
Status : Answered
Chosen Option : 2

Q.19 e Y & Tora 1 uR=a FRaTd §T 31T A HgT, "a8 AR R 3} 95 F1 5P gA g 1”
ST BT 97 & FT HAY 82

Ans X 1. 4%
X 2.9
X 3.2
o 4. 313 fUan, ar amn

Question ID : 81616112514
Status : Answered
Chosen Option : 4

Q.20 w@mmmaﬁﬁwﬁmﬁmﬁ%m&aﬁ%ﬁaé,ﬁﬁquﬁm%w%
aag gl

IISTHTE : HETeT e
Ans X 1. R ffy : e v
o 2. AR 91C : |Tel I8TgR el
2 3. wifa 7 : roitg e
X 4. Tfad ®i@ - gorg e

Question ID : 81616112510
Status : Answered
Chosen Option : 2




Q.21 A R F FS F wF g2 F AR FFH AR W {I G FS F FEA F AT S m2ar
¥ =T FE T @ T TE SRR

T\ | 3

Ans

00
o0

o0
o0

o 2.

><

lefo
o0

(sR e
oo

<D

oo
o0

><8

o0

Question ID : 81616112528
Status : Answered
Chosen Option : 2

Q.22 ?ﬁmﬁﬁaﬁwﬁwmﬁmé,mmwwwﬁwﬁm
I

W:ﬂ%’::ﬂﬁ[:?
Ans X 1.3d8

o 2. e

X 3.5a@

X 4.9%

Question ID : 81616113115
Status : Answered
Chosen Option : 2




Q.23 9 IR TEn-gH fau e & R | @9 Bt e d v wuE € ok 399 @ e ST
B I SR HEAT-GTH FT TG B |
Ans X 1.169:55
< 2.289: 70
X 3.256: 61

o 4.324:64

Question ID : 81616112215
Status : Answered
Chosen Option : 3

Q.24 7T RIg &1 9% 6! Sy g ford e U 4 * gl & VM W@ a1 W)
THiHRoT Wgferd g S|

6*10*55*162*9 =23
Ans X 1.x + — +

X2_+,+‘x‘—
X3,+,—,+‘x
,“4_x,—,+‘+

Question ID : 81616112218
Status : Answered
Chosen Option : 4

Q25 o & arr 1 o sreer-aT eufaE s € ¥ e ow weE AT, N, ‘SO, 'WE', ‘GO’
Hr O #HiEa frar wmm &1 32 o g S awg ‘TO' A werw & Rl wew 9 s

10 WE

ANs 1 GO
X2 S0
X3 AT
X< 4. IN

Question ID : 81616112222
Status : Answered
Chosen Option : 2

Section : General Awareness




Q.1 5y Isu & NIRRT (PonuYoksi) ATHS, TAAR P a8 F TH qTe-U7 BT STGNT Terrieal
ERT fPT M aral 3T To7 & SR faa Sirar ur?

Ans X 1. Teg TR
o 2. SO TR
X 3. SRUS
X 4. feHrgd uem

Question ID : 81616112228
Status : Answered
Chosen Option : 2

Q.2 yfy oy &} feaw w9 7= Sar g2
Ans X 1. 149

o 2. 14 TR
X 3.2 AR
X 4.6 3@

Question ID : 81616112934
Status : Answered
Chosen Option : 2

Q.3 g ¥ A fFu Uewel & US| Gia! $t Al BT I $Hd §¢ IR I

AT gEae fadt fe

Ans X 1. FgMg amy

o 2. TGHT SR

25 3. 3fg a5

X 4. TASeH H

Question ID : 81616112949
Status : Not Answered
Chosen Option : --

Q.4 is a practice of establishing and managing individual trees generally for

amenity purposes.
Ans X 1. Floriculture

< 2. Silviculture
#< 3. Viniculture

«” 4. Arboriculture

Question ID : 81616113147
Status : Answered
Chosen Option : 1




Q.5 3fR-TGHIY T (IPU) & HE 3R YR | APHSH WA WY (CPA) I BT IMaT
gwﬁmaﬂﬁaﬁAmwﬁam%ups)mmmwaﬁm
?

Ans X 1.319ufd

o 2. QDU g

X 3. Juyufd
X 4. Ty

Question ID : 81616112549
Status : Answered
Chosen Option : 1

Q6 _ o HIvH R Sl & rarar g e ¥ ggdt g5 Piadl 31 A 21
Ans X 1. RIRIRA (GERWIfaaid Hh

X 2. TGy GaRwIfd

7 3. 3uTpifd

4. A GERmIfa

Question ID : 81616112532
Status : Answered
Chosen Option : 1

Q7 _ <iq fage 9t v ran 3 o waw () 1 s i siman 21
Ans 1. HEGCS

7 2. aERIArSN

X 3. Hiiarsn

X 4. Hararei

Question ID : 81616112938
Status : Answered
Chosen Option : 1

Q.8 SIERIPH §TPT HENIY (FIH) T HSITE &1 Safedd g2
Ans X 1. 3fieeferar

X 2.9ur@

o 3. FacoRds

X 4.3

Question ID : 81616113156
Status : Answered
Chosen Option : 3




Q.9 49 & | 9 YRA & UYH SWIPUTT 32
Ans X 1. TUTS WY UI6H

o 2. TdUTH UG
% 3. Wt dwe ARk
X 4. SfHR g

Question ID : 81616112245
Status : Answered
Chosen Option : 2

Q.10 Which of the following is also called ‘green algae’?

Ans X 1.Rhodophyceae
" 2. Chlorophyceae
#< 3. Porphyridium
75 4. Phaeophyceae

Question ID : 81616112233
Status : Answered
Chosen Option : 4

Q.11 wRadt 2021 ®, YRA & &1 W@ 3 P 83 TP TSI fAUTH (LCA) dwrd & fmfor

& ferg St famm
Ans X 1. & SIHYM 3R I e

X 2. YRd SaaeiHay fafties
o 3. g wRAfeay fafics
X 4. YRd ST fafics

Question ID : 81616113160
Status : Answered
Chosen Option : 3

Q.12 A F§ PT THRIT & 9 T, o & ATH A ST 1T 4T
Ans X 1. %qE

X 2. A%

o 3. e

X 4 TR

Question ID : 81616112240
Status : Answered
Chosen Option : 3




Q13 312 TG IA TG HI______ cd AT HHHVT ded HgT STl 31
Ans X 1. b-did

X 2. c-Al®

X 3. a-«l®

o 4. d-<H

Question ID : 81616112538
Status : Answered
Chosen Option : 4

Q.14 g & | -9 3 TS TYE 7 3w =18 32
Ans 1 HRd

X 2. sirecfer

& 3. DTS

X 4.9

Question ID : 81616112553
Status : Answered
Chosen Option : 3

Q.15 In which of the following years was the origin and enactment of the Indian Age of
Consent Act passed?

Ans X 1.1834
o 2. 1891
< 3.1889
< 4.1901

Question ID : 81616112946
Status : Answered
Chosen Option : 3

Q.16 SRS a=aoia FYARYY ford R e A fRya 82
Ans X 1. Uf3H §A

& 2. 3|

7< 3. 3fifezm

X 4. FHCH

Question ID : 81616112236
Status : Not Answered
Chosen Option : --




Q.17 fAgfefad & @ o= a1 feh ara (@) 22
Ans X 1. f&@sieaR @y

X 2. 98 ATd, S SUHNT B4 & forg 9t & o Iueisy gian B, 39! RaTe fb o1 o o
TP foTT YT HRal § 3R D g1 Bl g
& 3. 98 A9, S it U safad a1 oR & @il gRT SUHNT fohar orar 31

2 4. IUHT H TR Ufdgel 3R TR sruaeiH

Question ID : 81616112230
Status : Answered
Chosen Option : 2

Q.18 2021 ® 5 & & fo5w 3= & qd wuEER @1 ust faymer R & S faar mane
Ans X 1. gt

X 2. diddr

o 3. U

X 4.9U1d

Question ID : 81616113152
Status : Answered
Chosen Option : 4

Q.19 37ad RO # F1d IHAS Il A & Had g argHs g uifRufaat & il
FUHA A g
Ans X 1.12
X 2.13
& 3.1

X 4.10

Question ID : 81616112941
Status : Not Answered
Chosen Option : --

Q.20 3iifE= # IgoTH W 3@ A 3R &fEor Fraa TG & E@H F I+ T BT AW /1 R?
Ans X 1. gauRear

X 2. IR

< 3. TR

o 4. SR

Question ID : 81616112540
Status : Answered
Chosen Option : 1




Q.21 FTadt 2021 ® fora=t @i &t usT fyywor & gwarra fosar mar?
Ans o 1.7
X 24
X 3.29
X 4.10

Question ID : 81616113158
Status : Answered
Chosen Option : 1

Q.22 fAg & A P FeWeR ATH AASIT (Interpreter of Maladies) THH Y &1 AfJHT 82
Ans 71 @maﬂ%@

X 2. 3Far AR

XK 3. g

X 4. sreufa g

Question ID : 81616112547
Status : Answered
Chosen Option : 3

Q.23 TG 3Nu= 2020 H Aige UHa P fawiar &1 872
Ans X 1. TRETSA TSI

o 2. AT B

X 3. R greg

2 4. %1 fafersg

Question ID : 81616112955
Status : Answered
Chosen Option : 2

Q.24 . A 3= g rdiRY ) g ia-T-ager Tl & U § ardi & wqg ¥ safud
I

Ans 2 1. Sogarme
X 2. 3el-3G-H Raareit
X 3. 99
X 4. $q9-35-¢H W§H

Question ID : 81616112544
Status : Answered
Chosen Option : 4




Q.25 Which of the following is one of the metals used in LED semiconductor technology?
Ans X 1.Zinc

#< 2. Copper
" 3. Gallium

5 4. lron

Question ID : 81616113141
Status : Answered
Chosen Option : 3

Section : Quantitative Aptitude

Q1 A s B, 5 R # w15 R 3l 10 et F U W wwa # 3 o oy I S o4 e §
AT 4 e 1€, B F O &1 ¥ R A, 7T IR C F TT FH F g, 09 F oA 3 few A
T AT &I TG C 3R F AT B, A 97 3 A F 40% S F Fhe R & 9@ % weRar 32

Ans X 1. 10
x2 8
2

3 9
X4 8

Question ID : 81616112260
Status : Answered
Chosen Option : 2

2z a3 (3(s3 1] o o
Ans X165

29

X3 7

X4 8

Question ID : 81616113162
Status : Answered
Chosen Option : 2




Q.3

= & =g arforerr, 2020 & femey A & Sluer e soeh
F IR FEITE @rT oo 3 (T #) AR AF o F

WraT Fr g &
o1 karer) YT ICIcC Erqu
aa4 | 35,000 | 38,500 | 29,000 | 42,000
cfler | 6,000 | 6,300 | 5,000 | 7,500
Cipe: 1,000 | 1,100 | 1,000 | 1,240
ETeEH | 1,800 | 1,950 | 1,400 | 1,500

0T F A, FHET IR Wfew d=t F For sww 7 e
gfdrera &7 272

Ans

X1 45
2 38
X3 48
x4 409

Question ID : 81616112579
Status : Answered
Chosen Option : 2




Q.4 7 97 WF 2014 T 2018 T 5 ¥ ¥ g A 3 B Tt F Ree 9eaew & v At
BTET T HEIT H AT T

400 75
360 3

350

35
30|
280
250, 260
ns 225
160) = HRFA
s TYEB
100
50
0
017

2014 2015 2016 w018

a¥
2015 AT 2017 # TEA= B #F T o F For TEar Y 2014 3T 2016 F @R A F A=t
ST # T FEAT F OGS A Fi |

Ans X 1111 : 91

B 8

g

i B 5 e
§

X291 : 111
v 3 137 : 92
X4 .92 1137

Question ID : 81616113284
Status : Answered
Chosen Option : 3

Q5 frr9E = A B, C, D, E 3t F o firea-fies oot & faredr faemmery & wem X & 300 fagafiet &
giera AR FeRor & eha &

A

& 7% aifd=r A, B, C, D, E 3t F o free-fite a9t & @am X & @z &1 der o1 g &)

Co A B C D E F
TSP | 36 26 34 |28 x 20
FEaT

ofy == E A, w5 #F vew AR a5l ff T 1 Agae 30 4§, & # E F wsa Fr der i
T C & wefodl & Fer & 99 & 3gad 7 w4

Ans 118 : 23

X224 :23
x323:18
X4 23 : 24

Question ID : 81616113286
Status : Not Answered
Chosen Option : --




Q.6 g7, 39 Teew WemT § AT 3H 21, 2, 35 AT 0 FewEd F WA 100502 1 F g F
fEer afr g 72 foes o, o e % &9 & oo 7 M (2 H) 79 F

Ans 1160
X2 72
X< 3100
< 4. 90

Question ID : 81616112965
Status : Answered
Chosen Option : 4

7 Frr & arE AT, 2016 ¥ 2020 % AR AR & T A

I3t Fr FEwr g
T§ | WErE | IWEHEENIE | YU | HIerhr
2016 | 1800 2500 | 1800 2000
2017 | 2500 2300 | 1850 1800
2018 | 2300 2400 | 1840 1760
2019 | 2440 1950 | 1900 1600
2020 | 2250 2100 | 2000 1750

T # ¥ FF a¥ & gau 30« 98 o@nv v a7

Ans  X1. 2016
< 22020
v 3 2017
<4 2018

Question ID : 81616112577
Status : Answered
Chosen Option : 3




Q.8 of Alsie arer WA 7p5964q28, 88 ¥ I R &, & q ¥ Wwan "= F Bw, (pP-q) F}
A A w4, e p # q e weme E

Ans X 1. 81
X2 9
3 72
X4 0

Question ID : 81616112252
Status : Answered
Chosen Option : 4

Q.9 oy G Prger @7 T WO 74° §, A 3 & AN BIUT & FAGEHIR & &= & H0T AT A
Ans X 1. G3e°

v 2. 127°

X3 16°

X 4.106°

Question ID : 81616113177
Status : Answered
Chosen Option : 4

Q.10 =fy (16v2x® +81v3y%) + (2v2x +3v3y) = Ax2 + By? + Cxy &, @124 — 3B — 2V6C F =l =1 <
Ans 1 137

v27

X3 25

X479

Question ID : 81616112971
Status : Not Answered
Chosen Option : --

Q.11 afE 2sin(3x —15)° = 1,0° < (3x —15) < 90°} , F cos? (2x + 15)° + cot? (x + 15)° & AT AT &L

Ans
s
X 20
2
x3 2
2
X4 1

Question ID : 81616112270
Status : Not Answered
Chosen Option : --




Q12 A B 3t C d= gFmeR, B TewT 30g W ,820 F §ET T F1 §1 A, B AR C e
FEGET T T 20% 3R 20%; 25% AR 15% T 30% AR 10%, F FAFE g W I I FF @}
FFHER FUEaR g & & i B @ @) & E

Ans X1 A, 1,735.20
x2 B, 1,800
v 3 C, 1,783.40

x4 C, 1,780

Question ID : 81616112962
Status : Not Answered
Chosen Option : --

Q13 o2 tan® @

cosecZg secZ@

4+2sinBcos®, & §ET gl

Ans 1. cosecBsecB
< 2. sinBcosh

X 3. 5in%BcosO

X 4 cosec?Bsec?d

Question ID : 81616112373
Status : Answered
Chosen Option : 4

Q14 AB w% 3ea =1 vw =W ¥ g C v D =ww AB ¥ Rufi wat °¥ 5w vew Ruw E
2ACD =25°%| E, g =9 BD W T¥ud v& &g g1 4BED & AT (39 #) AT H

Ans X1.130
X2 105
X3 125
¥4 115

Question ID : 81616112267
Status : Answered
Chosen Option : 4

Q.15 qrem, 310,000 # Fegey Twer AT 75,000 F HeT daw WG &1 g FOYLT 9 H 8% W N =T
Tl I FF-E W 10% T 9w FF 5 O, 38 Hex faw i Traw g ame W e aige?

AnS 1 14%
X2 10%
x5 18%
x4 12%

Question ID : 81616113166
Status : Answered
Chosen Option : 1




Q16 wreer, g HR ST i o F1F g w9 oTl A & @ e 39 4 I # OEA §e &
35% dte e &) SHaene & 9cdes 35 9 # ¥ 14 9 e O 9T ®r g9 7 &8 99 9
aﬁraﬁrwﬁ4gsommmmmgmaﬁaﬁrgﬁrmm#|

Ans X1. 38000
+ 2. 33000
<3 13378

< 499000

Question ID : 81616112256
Status : Answered
Chosen Option : 4

Q.17 T F TE A UF F T A E, TR 3R & w84 m AN 3w 5O 175 m E gWA A
STETE ¥ T A | AT S A (mt ) 7 F (7= 2 sy

Ans 1. 60.06
X2 60.6
X3 11565
<4.115.05

Question ID : 81616112565
Status : Not Answered
Chosen Option : --

Q.18 = ufir aremor sar= #r YT g7 ov, 3 a¥ =g 714,880 3T 5 ¥ =g T16,800 g =T & 3@ wfir
F T 10% TEF ==t a7 W 4 9§ F 97 AR == (3 #H) 79 F

Ans X 1. 5184
X2 4740
<3 4860
w4 4800

Question ID : 81616112259
Status : Not Answered
Chosen Option : --




Q.19 A ABCH AB =20 m,BC=21cm 3T AC =29 cm ¥l cot € + cosecC — 2 tan A T F= A I

Ans T
K1 —
20
3
K2 =
5
2
W3 -
3
9
p QA
20
Question ID : 81616113786
Status : Not Answered
Chosen Option : --
Q.20

3 27 ;
AL 4t - 37 +9=0,x> 5, A 8° — S H A ATHI
X

Ans 1. 215
X2 =35
X3 35
X4 -215

Question ID : 81616112265
Status : Not Answered
Chosen Option : --

Q21 o twmg, gag 8 7= R A ¥ e § 3R @9 12 79 Ry B W 9gad §1 °F FR A
s:soaammsﬁﬁmﬁr%iﬁrmmAwmmqgmﬁ%a?mmmBtﬂ'qg'aﬂ'rh'c’r
vE-gE ¥ Brw wem e £

A X1 gag 9 : 38 T
X2 GIE 10 : 22 §
X3 GAE 9 : 52 T
v gEg 10 : 08 7

Question ID : 81616112968
Status : Answered
Chosen Option : 3




Q.22 Ty ABC #, g D, AB WX Ry ¥ @ E 3 F, BC W 57 91 Tva ¥ @& DF, AC & To=er &
#T DE, AF & BHIEET 1 I BE = 4 cm 3T CF = 3 ¢m & & EF & s@g (cm &) 719 #:41

Ans X 1§
X2 3
X315
v 2

Question ID : 81616112572
Status : Not Answered
Chosen Option : --

Q23 wum 375 e=T TEAHT F T F, TUF @ TH THae e F HEa ¥ s A9 H

Ans X1.8:70
v27:8
xX31:7
X477 :80

Question ID : 81616112557
Status : Not Answered
Chosen Option : --

0% e D SEr a0 A a* + 2 AT AT

a

Ans X119
X2 11
v3 17
X4 15

Question ID : 81616113172
Status : Answered
Chosen Option : 2

Q25 vF geo W @Ew fig A B, & T @I AB 3 AC @it R E, St Fen Rg B ik C g A
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Question ID : 81616112569
Status : Not Answered
Chosen Option : --

Section : English Comprehension




Q.1 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in
the right order to form a meaningful and coherent paragraph.

A. There are many secondary reasons as well along with increasing levels of carbon.
B. The term is used to describe the unnatural rise in earth’s average temperature.

C. Increased carbon dioxide is the primary driver of global warming.

D. Global warming is the single biggest threat to life on earth today.

Ans X 1.ACBD
X 2.DABC
& 3.DBCA
X 4. ABCD

Question ID : 81616113198
Status : Answered
Chosen Option : 2

Q.2 Select the option that expresses the given sentence in passive voice.

The postman had delayed the letter.
Ans  # 1. The letter had been delayed by the postman.

/5 2. The postman had been delayed by the letter.
/< 3. The letter was delayed by the postman.
< 4. The letter had delayed the postman.

Question ID : 81616112279
Status : Answered
Chosen Option : 1

Q.3 Select the most appropriate option to substitute the underlined segment in the given
sentence. If no substitution is required, select ‘No substitution’.

Much of the truth about the mysterious death of her pet was not revealed.
Ans X 1.were not revealed
< 2. were not being revealed
" 3. No substitution

< 4. have not revealed

Question ID : 81616112585
Status : Answered
Chosen Option : 3

Q.4 Select the most appropriate meaning of the following idiom.
To the nines
Ans o 1. To perfection
< 2. To be jealous
#5 3. To be exalted
< 4. To great depths

Question ID : 81616113002
Status : Answered
Chosen Option : 1




Q.5 Select the INCORRECTLY spelt word.

Ans

< 1. Perfectionist
25 2. Optimist

/5 3. Fatalist

" 4. Pessymist

Question ID : 81616113209
Status : Answered
Chosen Option : 4

Q.6 Select the most appropriate synonym of the given word.

Ans

Chaos
#< 1. Fusion

" 2. Confusion
#5 3. Dirt
75 4. Tension

Question ID : 81616112594
Status : Answered
Chosen Option : 2

Q.7 Select the most appropriate option to fill in the blank.

Ans

The jungle was nearly
#< 1. immobile

7< 2. immortal
" 3. impenetrable

5 4. immaterial

, so the progress was slow.

Question ID : 81616112605
Status : Answered
Chosen Option : 3

Q.8 Select the most appropriate ANTONYM of the given word.

Ans

Elated
< 1. Excited

< 2. Proud
" 3. Depressed
75 4. Thrilled

Question ID : 81616113202
Status : Answered
Chosen Option : 3




Q.9 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

The supervisor / wanted to known / the pros and cons / of the issue.
Ans X 1. The supervisor

75 2. the pros and cons

/5 3. of the issue

w” 4. wanted to known

Question ID : 81616112984
Status : Answered
Chosen Option : 4

Q.10 The following sentence has been divided into parts. One of them contains an error.
Select the part that contains the error from the given options.

“Would you liked / to have / some fries / along with your coffee, / sir?” | asked the
waiter.

Ans  # 1. Would you liked
25 2. along with your coffee
#< 3. asked the waiter

#5 4. some fries

Question ID : 81616112278
Status : Answered
Chosen Option : 2

Q.11 Select the most appropriate option to fill in the blank.
Iread some ___ of properties for sale on the Internet before | called the agent.
Ans o 1. descriptions
< 2. arguments
#< 3. monologues

75 4. spaces

Question ID : 81616112301
Status : Answered
Chosen Option : 2

Q.12 Select the option that can be used as a one-word substitute for the given group of
words.

A large bedroom for a number of people in a school or institution.
Ans X 1. Hostel

75 2. Assembly
w” 3. Dormitory
#< 4. Creche

Question ID : 81616112297
Status : Answered
Chosen Option : 1




Q.13 Select the most appropriate synonym of the given word.
Rejuvenate

Ans 4 1. Refresh

< 2. Reset

5 3. Retell

X 4. Retake

Question ID : 81616112595
Status : Answered
Chosen Option : 2

Q.14 Select the option that expresses the given sentence in indirect speech.
The teacher said, “Man is mortal.”

Ans & 1. The teacher said that man is mortal.

#< 2. The teacher said that man was mortal.

#% 3. The teacher said that men were mortal.

#< 4. The teacher instructed that man was mortal.

Question ID : 81616112583
Status : Answered
Chosen Option : 2

Q.15 Select the most appropriate ANTONYM of the given word.
Harmony
Ans 4 1. Conflict
< 2. Accord
< 3. Concord

X 4. Amity

Question ID : 81616113001
Status : Answered
Chosen Option : 1

Q.16 Select the most appropriate meaning of the following idiom.
Apple of one's eye
Ans & 1. Someone very precious or dear
< 2. Someone who plays all sports
#5 3. Someone who behaves courteously

< 4. Someone with great respect

Question ID : 81616113003
Status : Answered
Chosen Option : 1




Q.17 Select the most appropriate option to substitute the underlined segment in the given
sentence. If no substitution is required, select ‘No substitution’.

Sholay is one in the most popular Hindi movies.
Ans X 1.is one in the more popular
" 2. is one of the most popular
#5 3. No substitution

#5 4.is in the most popular

Question ID : 81616112281
Status : Answered
Chosen Option : 2

Q.18 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in
the right order to form a meaningful and coherent paragraph.

A. This awareness has motivated everyone to go for physical exercises.

B. These days people are more aware of their health.

C. In addition to physical exercises, some prefer taking health supplements too.
D. It is advisable, but one should consult a trainer/doctor before consuming health
supplements.

Ans X 1.DBCA
& 2. BACD
< 3.ADBC
 4.BADC

Question ID : 81616112997
Status : Answered
Chosen Option : 2

Q.19 Select the INCORRECTLY spelt word.
Ans X 1.Recluse

#< 2. Profuse
«” 3. Luxuriaus
25 4. Virtuous

Question ID : 81616113208
Status : Answered
Chosen Option : 3

Q.20 Select the option that can be used as a one-word substitute for the given group of
words.

A group of people, typically with vehicles or animals, travelling together.
Ans X 1.Gang

¥ 2. Caravan
#< 3. Circus
5 4. Troop

Question ID : 81616112298
Status : Answered
Chosen Option : 3




Comprehension:

In the following passage, some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

It is essential to form a link between formal education and skill (1) . Multidisciplinary
and personality enhancement skills are the (2) requirements of every sector. Many
reforms are being (3) in higher education to co-relate academics to the (4) of
various service sectors. Innovative models can help to (5) the varied needs of skilled
and unskilled labour.

SubQuestion No : 21
Q.21 Select the most appropriate option to fill in blank no.1.
Ans X 1. maturity

¥ 2. development
25 3. ripening
& 4. progress

Question ID : 81616113193
Status : Answered
Chosen Option : 2

Comprehension:

In the following passage, some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

It is essential to form a link between formal education and skill (1) . Multidisciplinary
and personality enhancement skills are the (2) requirements of every sector. Many
reforms are being (3) in higher education to co-relate academics to the (4) of
various service sectors. Innovative models can help to (5) the varied needs of skilled
and unskilled labour.

SubQuestion No : 22
Q.22 Select the most appropriate option to fill in blank no.2.
Ans X 1.external

5 2. needless
25 3. domestic
o 4. essential

Question ID : 81616113194
Status : Answered
Chosen Option : 4




Comprehension:

In the following passage, some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

It is essential to form a link between formal education and skill (1) . Multidisciplinary
and personality enhancement skills are the (2) requirements of every sector. Many
reforms are being (3) in higher education to co-relate academics to the (4) of
various service sectors. Innovative models can help to (5) the varied needs of skilled
and unskilled labour.

SubQuestion No : 23
Q.23 Select the most appropriate option to fill in blank no.3.
Ans X 1.improved

«# 2. introduced
25 3. settled
< 4. related

Question ID : 81616113195
Status : Answered
Chosen Option : 1

Comprehension:

In the following passage, some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

It is essential to form a link between formal education and skill (1) . Multidisciplinary
and personality enhancement skills are the (2) requirements of every sector. Many
reforms are being (3) in higher education to co-relate academics to the (4) of
various service sectors. Innovative models can help to (5) the varied needs of skilled
and unskilled labour.

SubQuestion No : 24
Q.24 Select the most appropriate option to fill in blank no.4.
Ans X 1.urgency

# 2. charge
" 3. need

25 4. duty

Question ID : 81616113196
Status : Answered
Chosen Option : 3




Comprehension:

In the following passage, some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

It is essential to form a link between formal education and skill (1) . Multidisciplinary
and personality enhancement skills are the (2) requirements of every sector. Many
reforms are being (3) in higher education to co-relate academics to the (4) of
various service sectors. Innovative models can help to (5) the varied needs of skilled
and unskilled labour.

SubQuestion No : 25

Q.25 Select the most appropriate option to fill in blank no.5.

Ans

25 1. meeting

X 2. met
< 3. meets

o 4. meet

Question ID : 81616113197

Status : Answered

Chosen Option : 4






